
MATHS

BOOKS - UNIQUE MATHS (HINGLISH)

CO-ORDINATE GEOMETRY

Problem Set

1. Seg AB is parallel to Y-axis and Co-ordinates of

point A are  then co-ordinates of point B can

be …………..

(1, 3)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xJfUJG72lF9F


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(3, 1)

(5, 3)

(3, 0)

(1, − 3)

2. Out of the following point …………lies to the right

of the origin on X-axis.

A. ( − 2, 0)

https://dl.doubtnut.com/l/_xJfUJG72lF9F
https://dl.doubtnut.com/l/_cx2srOO5MrWe


B. 

C. 

D. 

Answer: D

Watch Video Solution

(0, 2)

(2, 3)

(2, 0)

3. Distance of point (-3,4) from the origin is ……….

A. 7

B. 1

C. 5

https://dl.doubtnut.com/l/_cx2srOO5MrWe
https://dl.doubtnut.com/l/_2RLTOmfKOYpJ


D. 

Answer: C

Watch Video Solution

−5

4. A line makes an anlge of  with the positive

direction of X-axis. 

So the slope of the line is _ _ _ _ _ _ _ _

A. 

B. 

C. 

30∘

1

2

√3

2

1

qrt3

https://dl.doubtnut.com/l/_2RLTOmfKOYpJ
https://dl.doubtnut.com/l/_foLFEBlMxuYm


D. 

Answer: C

Watch Video Solution

√3

5. Determine whether the given points are collinear.

Watch Video Solution

6. Determine whether the given points are collinear.

Watch Video Solution

P (1, 2), Q(2, ), R(3, )
8

5

6

5

https://dl.doubtnut.com/l/_foLFEBlMxuYm
https://dl.doubtnut.com/l/_03JDCf6cDCXA
https://dl.doubtnut.com/l/_PAwUT8eez5cE


7. Determine whether the given points are collinear.

Watch Video Solution

L(1, 2), M(5, 3), N(8, 6)

8. Find the coordintes of the midpoint of the

segment joining 

P(0,6) and Q (12 ,20).

Watch Video Solution

https://dl.doubtnut.com/l/_PAwUT8eez5cE
https://dl.doubtnut.com/l/_52KEMA0kJ0k4
https://dl.doubtnut.com/l/_s7aKnpTJuaY5


9. Find the ratio of which the line segment joining

the points  and  is divided by the

Y-axis.

Watch Video Solution

A(3, 8) B( − 9, 3)

10. Find the point on the -axis which is equidistant

from  and .

Watch Video Solution

x

(2, − 5) ( − 2, 9)

https://dl.doubtnut.com/l/_PlKUstwYbhan
https://dl.doubtnut.com/l/_5S0gQSmHRE2c


11. 5)Find the distance between the following pairs

of points 

Watch Video Solution

A(a, 0), B(0, a)

12. Find the distance between the following pairs of

poins. 

Watch Video Solution

P ( − 6, − 3), Q( − 1, 9)

https://dl.doubtnut.com/l/_nuEYozu8SRoK
https://dl.doubtnut.com/l/_bXRyJlq6GRDz


13. Find the distance between the following pairs of

poins. 

Watch Video Solution

R( − 3a, a), S(a, − 2a)

14. Find the co-ordinates of the circumcentre of a

triangle whose vertices are (-3,1) ,(0,-2) and (1,3) .

Watch Video Solution

https://dl.doubtnut.com/l/_5DU3MudHR4o9
https://dl.doubtnut.com/l/_wDIGTPpgiuxs


15. In the following example, can the segment

joining the given points form a triangle ? If triangle

is formed, state the type of the triangle

considering sides of the triangle : 

Watch Video Solution

L(6, 4), M( − 5, − 3), N( − 6, 8)

16. In the following examples, can the segment

joining the given points form a triangle? If triangle

is formed, state the type of the triagle considering

sides of the triangle. 

P ( − 2, − 6), Q( − 4, − 2), R( − 5, 0)

https://dl.doubtnut.com/l/_bEWCtBcJHhxJ
https://dl.doubtnut.com/l/_DCNrpTJKiOhI


Watch Video Solution

17. In the following examples , can the segment

joining the given points from a triangle ? If triangle

is formed , state the type of the triangle

considering sides of the triangle. 

(iii) A 

Watch Video Solution

(√2, √2), B( − √2, − √2), C( − √6, √6)

18. Find k if the line passing through points

 has slope .

W h Vid S l i

P ( − 12, − 3) and Q(4, k)
1

2

https://dl.doubtnut.com/l/_DCNrpTJKiOhI
https://dl.doubtnut.com/l/_S2dMuH8wJSg2
https://dl.doubtnut.com/l/_cKQjVwzVq1wK


Watch Video Solution

19. Show that the line joining the points A(4,8) and

B(5,5) is parallel 

to the line joining the points C(2,4) and D(1,7).

Watch Video Solution

20. Show that points

 are

the vertices of a parallelogram.

Watch Video Solution

P (1, − 2), Q(5, 2), R(3, − 1), S( − 1, − 5)

https://dl.doubtnut.com/l/_cKQjVwzVq1wK
https://dl.doubtnut.com/l/_AJGR7pwcFNqi
https://dl.doubtnut.com/l/_xCOjeRXr2Dk4


21. Show that the points P(2,1), Q(-1,3) , R (-5,-3) and 

S (-2,-5) are the vertices of a square .

Watch Video Solution

22. Find the lengths of the medians of triangle

whose vertices are 

A (-1,1) , B (5,-3) and C (3,5).

Watch Video Solution

https://dl.doubtnut.com/l/_R3681cklzgph
https://dl.doubtnut.com/l/_FnbJvDPatx7m


23. Find the coordinates of the centroid of the

triangles if points  and 

 are the midpoints of the sides of that

triangle.

Watch Video Solution

D( − 7, 6), E(8, 5)

F (2, − 2)

24. Show that points A (4,-1)B (6,0) C (7,-2) and D

(5,-3) are the veties of a square.

Watch Video Solution

https://dl.doubtnut.com/l/_PuJoPpOWClpx
https://dl.doubtnut.com/l/_MbHrXeSKBWzU


25. Find the co-ordinates of circumcentre and

radius of circumcircle of  ABC if A(7,1) ,B(3,5) and

C(2,0) are given .

Watch Video Solution

△

26. Given A(4,-3) ,B (8,5) . Find the coordinates of

the point that 

divides segment AB in the ratio 

Watch Video Solution

3: 1

https://dl.doubtnut.com/l/_ElkPuxbjM2Vk
https://dl.doubtnut.com/l/_HNsmzZu0zcwD


27. चतुर्भुज ABCD जिसके  शीर्ष क्रम में A(-4, -2), (B(-3, -5),

C(3, -2) और D(2, 3) है, का क्षेत्रफल ज्ञात कीजिए ।

Watch Video Solution

28. The line segment AB is divided into five

congruent parts at P,Q,R and S such that

. If point  and 

 are given find the coordinates of A, P,R,B.

Watch Video Solution

A − P − Q − R − S − B Q(12, 14)

S(4, 18)

https://dl.doubtnut.com/l/_9BX0jgrN86ro
https://dl.doubtnut.com/l/_tdcegiWEiGRx


29. Find the coordinates of centre of the circle

passing through the 

points P(6,-6),Q (3,-7) and R(3,3)

Watch Video Solution

30. Find the possible pairs of co-ordinates of the

fourth vertex D of the parallelogram, if three of its

vertices are 

Watch Video Solution

A(5, 6), B(1, 2) and C(3, − 2)

https://dl.doubtnut.com/l/_3hUxhhFMZfqe
https://dl.doubtnut.com/l/_VjqZKStlIezG


Practice Set 5 1

31. Find the slope of the diagonals of a

quadrilateral with vertices

Watch Video Solution

A(1, 7), B(6, 3)C(0, − 3) and D( − 3, 3).

1. Find the distance between each of the following

pairs of points 

A(2, 3), B(4, 1)

Watch Video Solution

https://dl.doubtnut.com/l/_GaxTf5P3K379
https://dl.doubtnut.com/l/_pSsGcqUCsMDO


2. Find the distance between each of the following

pairs of points 

Watch Video Solution

P ( − 5, 7), Q( − 1, 3)

3. Find the distance between the following pairs of

points 

Watch Video Solution

R(0, 3), S(0, )
5

2

https://dl.doubtnut.com/l/_pSsGcqUCsMDO
https://dl.doubtnut.com/l/_xvX27ny6dq8k
https://dl.doubtnut.com/l/_ZNGOSSwONGum
https://dl.doubtnut.com/l/_NiSj5gIb233R


4. Find the distance between each of the following

pairs of points 

Watch Video Solution

L(5, − 8), M( − 7, − 3)

5. Find the distance between each of the following

pairs of the points. 

Watch Video Solution

T ( − 3, 6), R(9, − 10)

https://dl.doubtnut.com/l/_NiSj5gIb233R
https://dl.doubtnut.com/l/_rJ0wJxCvATXW


6. Find the distance between each of the following

pairs of points 

Watch Video Solution

W( , 4), X(11, 4)
−7
2

7. Determine whether the points are collinear OR

not 

Watch Video Solution

A(1, − 2), B(2, − 5), C( − 4, 7)

https://dl.doubtnut.com/l/_9MbS2RexvfRM
https://dl.doubtnut.com/l/_OJKypGvrie8Q


8. Determine whether the points are collinear 

Watch Video Solution

L( − 2, 3), M(1, − 3), N(5, 4)

9. Determine whether the points are collinear 

Watch Video Solution

R(0, 3), D(2, 1), S(3, − 1)

10. Determine whether the points are collinear. 

P ( − 2, 3), Q(1, 2), R(4, 1)

https://dl.doubtnut.com/l/_xTCatGehzEDI
https://dl.doubtnut.com/l/_6eFyUWEZKrKn
https://dl.doubtnut.com/l/_cwmjZTUdlruc


Watch Video Solution

11. Find the point on the X-axis which is equidistant

from (-3,4) 

and B(1,-4).

Watch Video Solution

12. Verify whether P(-2,2) , Q(2,2) and R(2,7) are the

vertices of a 

right angled triangle or not by completing the

following acitvity. 

 …(1) 
PQ = √[2 − ( − 2)]2 + (2 − 2)2 = □

https://dl.doubtnut.com/l/_cwmjZTUdlruc
https://dl.doubtnut.com/l/_rBC3ePu11p3b
https://dl.doubtnut.com/l/_5egaESMacXJn


 …(2) 


 ...(3) 

from (1),(2),(3) 

 

 


 a right angled triangle [is /is not]

Watch Video Solution

QR = √(2 − 2)
2

+ 97 − 2
2

) = 5

PR = √[2 − ( − 2)]
2

+ (7 − 2)
2

= □

PR2 = □ , QP 2 + QR2 = □

∴ PR2
□ PQ2 + QR2[ = or ≠ ]

∴ △ PQR □

13. Show that points P(2,-2) , Q (7,3) ,R(11,-1) and

S(6,-6) 

are vertices of a parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_5egaESMacXJn
https://dl.doubtnut.com/l/_jCGWyE1XNgY5


14. Show that points A (-4, -7), B (-1,2) , C (8,5) and

D(5,-4) 

are the vertices pf rhomus ABCD.

Watch Video Solution

15. Find x,if distance between L (x,7) and M(1,15) is

10.

Watch Video Solution

https://dl.doubtnut.com/l/_jCGWyE1XNgY5
https://dl.doubtnut.com/l/_nduSn1Hd3CwF
https://dl.doubtnut.com/l/_dePbor369oeV


Practice Set 5 2

16. Show that the points A(1,2),B(1,6),

 are the 

vertices of an equilateral triangle .

Watch Video Solution

C(1 + 2√3, 4)

1. Find the co-ordinates of point P if P divides the

line segment joining the points

 in the ratio 

Watch Video Solution

A( − 1, 7) and B(4, − 3) 2: 3

https://dl.doubtnut.com/l/_a13fVkXjrdFE
https://dl.doubtnut.com/l/_zxlsB1SOlDhr


2. Find the co-ordinate of point A which divides

segment PQ in the ratio  


Watch Video Solution

a : b

P ( − 3, 7), Q(1, − 4), a : b = 2: 1

3. In each of the following examples find the co-

ordinates of point A which divides segment PQ in

the ratio  


View Text Solution

a : b

P ( − 2, − 5), Q(4, 3), a : b = 3: 4

https://dl.doubtnut.com/l/_zxlsB1SOlDhr
https://dl.doubtnut.com/l/_566godxe38Ri
https://dl.doubtnut.com/l/_bzghGIUODcVk


4. In each of the following examples find the co-

ordinates of point A which divides segment PQ in

the ratio  


Watch Video Solution

a : b

P (2, 6), Q( − 4, 1)a : b = 1: 2

5. Find the ratio in which point  divides

the line segment joining the points

View Text Solution

T ( − 1, 6)

P ( − 3, 10) and Q(6, − 8)

https://dl.doubtnut.com/l/_gQRMhvwlvY1F
https://dl.doubtnut.com/l/_WNXbDRkZIr4P
https://dl.doubtnut.com/l/_wqj7JXDuVYCA


6. Point P is the centre of the circle and AB is a

diameter . Find the 

coordinates of point B. If coordinates of point A

and Pare (2,-3) 

and (-2,0) respectively .

Watch Video Solution

7. Find the ratio in which point P (k,7) divides the

segment joining 

A(8,9) and B(1,2) .

Watch Video Solution

https://dl.doubtnut.com/l/_wqj7JXDuVYCA
https://dl.doubtnut.com/l/_oY02AgytsNlB
https://dl.doubtnut.com/l/_KBvHWZaXUCnd


8. Find the co-ordinates of midpoint of the

segment joining the points (22, 20) and (0, 16)

Watch Video Solution

9. Find the centroids of the triangles whose

vertices are given below 

Watch Video Solution

( − 7, 6), (2, − 2), (8, 5)

https://dl.doubtnut.com/l/_KBvHWZaXUCnd
https://dl.doubtnut.com/l/_4mUYtyJRoGMq


10. Find the centroids of the triangles whose

vertices are given below 

Watch Video Solution

(3, − 5), (4, 3), (11, − 4)

11. Find the centroids of the triangles whose

vertices are given below 

(4, 7), (8, 4), (7, 11)

Watch Video Solution

https://dl.doubtnut.com/l/_JOul7EZRJnfF
https://dl.doubtnut.com/l/_mle4GKlOoCwe


12. In  is the centroid. If 

 then find the co-

ordinates of C

Watch Video Solution

ΔABC, G( − 4, − 7)

A( − 14, − 19) and B(3, 5)

13. A(h,-6),B(2,3) and C(-6,k) are the coordinates of

vertices 

of a triangle whose centroid is G(1,5). Find h and k.

Watch Video Solution

https://dl.doubtnut.com/l/_UW213sbPQSMt
https://dl.doubtnut.com/l/_qPBVQu50tQgn


14. Find the co-ordinates of the points of trisection

of the line segment AB with

Watch Video Solution

A(2, 7) and B( − 4, − 8)

15. If A(-14,-10) , B (6,-2) is given . Find the

coordinates of points 

which divide segment AB into four equal points .

Watch Video Solution

https://dl.doubtnut.com/l/_L2n09RkEZkL5
https://dl.doubtnut.com/l/_e8rjbKmDgPqI


Practice Set 5 3

16. If ,  are given, then find the

co-ordinate of the point which bisects segment 

into two equal parts.

Watch Video Solution

A(20, 10) B(0, 20)

AB

1. Angles made by the line with the positive

direction of X-axis are given. Find the slope of these

lines 

W h Vid S l i

45∘

https://dl.doubtnut.com/l/_Xtd5UfFA3OMQ
https://dl.doubtnut.com/l/_UO3uKiNaVjnG


Watch Video Solution

2. Angles made by the line with the positive

direction of X-axis are given. Find the slope of these

lines 

Watch Video Solution

60∘

3. Angles made by the line with the positive

direction of X-axis are given. Find the slope of these

lines 

90∘

https://dl.doubtnut.com/l/_UO3uKiNaVjnG
https://dl.doubtnut.com/l/_SiX56UIX1G25
https://dl.doubtnut.com/l/_vPF8PiB8pPgg


Watch Video Solution

4. Find the slope of the lines passing through the

given points 

Watch Video Solution

A(2, 3), B(4, 7)

5. Find the slope of the lines passing through the

given points 

Watch Video Solution

P ( − 3, 1) and Q(5, − 2)

https://dl.doubtnut.com/l/_vPF8PiB8pPgg
https://dl.doubtnut.com/l/_NmM9jq8zAAYk
https://dl.doubtnut.com/l/_FSvhDLm65Xn8


6. Find the slope of the lines passing through the

given points 

Watch Video Solution

C(5, − 2) and D(7, 3)

7. Find the slope of the lines passing through the

given points 

Watch Video Solution

L( − 2, − 3) and M( − 6, − 8)

https://dl.doubtnut.com/l/_FSvhDLm65Xn8
https://dl.doubtnut.com/l/_d3hW0t5JiSH3
https://dl.doubtnut.com/l/_6aHJaFQV2knT


8. Find the slope of the lines passing through the

given points 

View Text Solution

E( − 4, − 2) and F (6, 3)

9. Find the slope of the line passing through the

given points 

Watch Video Solution

T (4, 5) and S(3, 4)

https://dl.doubtnut.com/l/_DlZkcPEjsUcz
https://dl.doubtnut.com/l/_7mlv91BoMtaa


10. Determine whether the following points are

collinear 

Watch Video Solution

A( − 1, − 1), B(0, 1), C(1, 3)

11. Determine whether the following points are

collinear 

View Text Solution

D( − 2, − 3), E(1, 0), F (2, 1)

https://dl.doubtnut.com/l/_ErZKIENEnwSr
https://dl.doubtnut.com/l/_z2hiGqGWHpm0


12. Determine whether the following points are

collinear 

Watch Video Solution

L(2, 5), M(3, 3), N(5, 1)

13. Determine whether following points are

collinear. 

Watch Video Solution

P (2, − 5), Q(1, − 3), R( − 2, 3)

https://dl.doubtnut.com/l/_83FWCwsdXQm7
https://dl.doubtnut.com/l/_AoN4vJjrYzW8


14. Determine whether the following points are

collinear 

Watch Video Solution

R(1, − 4), S( − 2, 2), T ( − 3, 4)

15. Determine whether the following points are

collinear or not: 

Watch Video Solution

A( − 4, 4), K( − 2, ), N(4, − 2)
5

2

https://dl.doubtnut.com/l/_ZI5OWKRIrgEj
https://dl.doubtnut.com/l/_16USIg4t0esS


16. If  are vertices of

a triangle, then find the slope of each side.

Watch Video Solution

A(1, − 1), B(0, 4), C( − 5, 3)

17. Show that A (-4,-7) , B (-1,2) ,C (8,5) and D (5,-4)

are the vertices of a parallelogram.

Watch Video Solution

18. Find k, if  and slope of line

RS is 

R(1, − 1), S( − 2, k)

−2

https://dl.doubtnut.com/l/_Vo6HGV1GtdVb
https://dl.doubtnut.com/l/_I70qQzOCDFEn
https://dl.doubtnut.com/l/_isHaavcUpJE3


Higher Order Thinking Skills Hots Solved

Watch Video Solution

19. Find k, If B (k, - 5), C (1,2) and slope of the line is

7.

Watch Video Solution

20. Find k, if PQ  and P(2,4), Q (3,6), R (3,1),

S(5,k).

Watch Video Solution

∣ ∣ RS

https://dl.doubtnut.com/l/_isHaavcUpJE3
https://dl.doubtnut.com/l/_gnaTm5LL5B6R
https://dl.doubtnut.com/l/_iZUgmxXIToKR


1. If the vertices of triangle PQR are

, then

find the co-ordinate of point G which divides the

median PT in the ratio 

View Text Solution

P ≡ (1, − 9), Q ≡ (2, 5) and R ≡ (6, 7)

2: 1

2. Show that the line segment S joining the points

bisects each other

View Text Solution

( − 6, 8)( − 2, 4) and ( − 4, 13), ( − 4, − 1)

https://dl.doubtnut.com/l/_QGYQZsjCffrg
https://dl.doubtnut.com/l/_OaIxpfKvnf4V
https://dl.doubtnut.com/l/_FgSulANjEkUl


3. If  is a parallelogram and 

 then

find the co-ordinates of point H

Watch Video Solution

□ EFGH

E = (3, 4), F = ( − 1, − 6), G = (3, − 8)

4. Do the line segments joining the points

 form a triangle ?

If so name the type of triangle so formed

View Text Solution

( − 6, 2), ( − 2, − 2) and (1, 1)

https://dl.doubtnut.com/l/_FgSulANjEkUl
https://dl.doubtnut.com/l/_8IfBRiT9TO4c


5. In , D is the midpoint of seg MN. If 

, find the coordinates of

the point G which divides the median internally in

the ratio 

View Text Solution

ΔLMN

L ≡ (2, 4), D ≡ (2, − 2)

2: 1

6. The equation of a line is . It

intersects X-axis in point A and Y-axis in point B,

find the co-ordinates of points A and B, find the

length of AB

Watch Video Solution

3x − 4y + 12 = 0

https://dl.doubtnut.com/l/_jBWTxwGqidA5
https://dl.doubtnut.com/l/_UcbBFcYKyNa6


Unique Practice Session Mcqs

1. What is the distance between the points A (4,5)

and B(2, 5) ?

A. 4

B. 2

C. 16

D. 

Answer: B

Watch Video Solution

√102

https://dl.doubtnut.com/l/_34DeTs9lBPe4
https://dl.doubtnut.com/l/_2833YXgEslNL


2.  is the midpoint of seg AB. If B(4,3),

what are the co-ordinates of the point A ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P ( − 1, 2)

(6, 1)

(1, 6)

( − 1, 6)

( − 6, 1)

https://dl.doubtnut.com/l/_2833YXgEslNL


3.  and D (1,7) are the

vertices of the parallelogram . 

Find the coordinates of the point of intersection of

its diagonals .

A. (6, 12)

B. (12, 6)

C. (3, 6)

D. (6, 3)

Answer: C

Watch Video Solution

A(4, 8), B(5, 5), C(2, 4)

https://dl.doubtnut.com/l/_SXm7KVWvGPCA


4. The ratio in which the point (5, 4) divides the line

joining points (2, 1) and (7,6 ) is…..

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3: 2

2: 3

1: 3

2: 3

https://dl.doubtnut.com/l/_C48FNEg5EMtO


5. The co-ordinate of the mid-point of the line

segment joining the points

 is…..

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P (4, − 6) and Q( − 2, 4)

( − 1, 1)

(1, − 1)

(3, 5)

( − 3, − 5)

https://dl.doubtnut.com/l/_GgdAEYODgJ91
https://dl.doubtnut.com/l/_HilzPVziFcUx


6. Coordinates  are

the vertices of an….

A. Right angle triangle

B. Isosceles triangle

C. Equilateral triangle

D. Scalene triangle

Answer: D

Watch Video Solution

(3, 3), ( − 4, 1) and (3, − 5)

https://dl.doubtnut.com/l/_HilzPVziFcUx


7. P divides segment QR internally in the ratio

 then ….

A. (0,1)

B. 

C. 

D. 

Answer: C

View Text Solution

2: 1  Q ≡ ( − 5, 8), R ≡ (4, − 4) P ≡

(0, − 1)

(1, 0)

( − 1, 0)

https://dl.doubtnut.com/l/_4Qxxp1C9JeRS


8. Angles made by the line with the positive

direction of X-axis are given. Find the slope of these

lines 

A. 1

B. 2

C. 

D. 

Answer: A

Watch Video Solution

45∘

1

2

1

√2

https://dl.doubtnut.com/l/_2tqSu7W8QOSM


9. Centroid divides each median in ratio 2:1.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1: 2

2: 1

2: 3

4: 2

https://dl.doubtnut.com/l/_6uWXLMCSNSG7


10. What are the values of m and n if  is

the midpoint of the segment joining

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

D(m, − 2)

( − 3, n) and (2, − 5)

m = 1, n =
−1

2

m = − 1, n =
1

2

m = , n = 1
−1

2

m = , n = − 1
1

2

https://dl.doubtnut.com/l/_zzt0kjq5oRqx
https://dl.doubtnut.com/l/_mfNv97N4mrk0


11. If slope of line joining the points  and 

 is  then find x.

A. 2

B. 

C. 

D. 5

Answer: A

Watch Video Solution

(2, x)

( − 3, 0) 2/5

−2

−5

https://dl.doubtnut.com/l/_mfNv97N4mrk0


12. The slope of line passing through

A. 1

B. 

C. 

D. 2

Answer: D

Watch Video Solution

A(2, 3), B(4, 7)

5

2

−4

https://dl.doubtnut.com/l/_7g2ugjt5Wqrw


13. The slope of X-axis is _ _ _ _ _ _

A. 1

B. 2

C. 0

D. not determind

Answer: C

Watch Video Solution

14. The slope of the parallel to Y-axis

https://dl.doubtnut.com/l/_tPAOPYdI7kzW
https://dl.doubtnut.com/l/_YudGNpTIUT54


A. not determind

B. 1

C. 0

D. 2

Answer: A

Watch Video Solution

15. If the
 points 
 and 
 are

collinear, then 
 
(b) 
(c) 
(d) 

A. 

(k,  2k),  (3k,  3k) (3,  1)

k
1

3
−

1

3

2

3
−

2

3

−1

3

https://dl.doubtnut.com/l/_YudGNpTIUT54
https://dl.doubtnut.com/l/_WaWJBSJKb3o6


1 Marks Question

B. 

C. 

D. 3

Answer: A

Watch Video Solution

1

3

−3

1. A line makes an anlge of  with the positive

direction of X-axis. 

So the slope of the line is _ _ _ _ _ _ _ _

30∘

https://dl.doubtnut.com/l/_WaWJBSJKb3o6
https://dl.doubtnut.com/l/_AfKVJXFhpLDP


Watch Video Solution

2. Find the distance between origin of point

View Text Solution

P ( − 3, 4)

3. Points are  which

point lies to the right of the origin on x-axis

Watch Video Solution

A( − 2, 0), B(0, 2), C(2, 0)

https://dl.doubtnut.com/l/_AfKVJXFhpLDP
https://dl.doubtnut.com/l/_E0ZxYhqfWeru
https://dl.doubtnut.com/l/_xvHb9EZo3b33


4. What is the slope of the line parallel to X-axis ?

Watch Video Solution

5. Find the distance between points A(a, 0), B(0, a)

View Text Solution

6. Point P is the centre of circle and AB is a

diameter. Find the co-ordinate of centre of circle if

A(22, 20) B(0.6)

View Text Solution

https://dl.doubtnut.com/l/_pKQLDLN0bsWM
https://dl.doubtnut.com/l/_9sWNHRFKBqR3
https://dl.doubtnut.com/l/_96oYoCbYEf3H


7. Are the points 

collinear ?

Watch Video Solution

A(0, 2), B(1, − 0.5), C(2, − 3)

8. Find the coordintes of the midpoint of the

segment joining 

P(0,6) and Q (12 ,20).

Watch Video Solution

https://dl.doubtnut.com/l/_96oYoCbYEf3H
https://dl.doubtnut.com/l/_LxSkBJFiiHcS
https://dl.doubtnut.com/l/_W2rxJYAMPBdu


2 Marks Question

9. If A(-14,-10) , B (6,-2) is given . Find the coordinates

of points 

which divide segment AB into four equal points .

Watch Video Solution

1. Show that point

 are

collinear

Watch Video Solution

P ( − 3, 2)Q(1, − 2) and R(9, − 10)

https://dl.doubtnut.com/l/_gxiQxUrWk6ha
https://dl.doubtnut.com/l/_a6Bh6VEOwY3m


2. Find the distance between points

Watch Video Solution

C( − 3a, a) and D(a, − 2a)

3. If A (3,5) , B (7,9) and Q divides seg AB in the ratio

 , then find the co-ordinates of points Q .

Watch Video Solution

2: 3

4. Find the slope of the lines passing through the

given points 

https://dl.doubtnut.com/l/_a6Bh6VEOwY3m
https://dl.doubtnut.com/l/_Z2OOdntKmJa4
https://dl.doubtnut.com/l/_MITEs1GqDapf
https://dl.doubtnut.com/l/_TIcjIgsqnNXq


Watch Video Solution

L( − 2, − 3) and M( − 6, − 8)

5. Show that A (-4,-7) , B (-1,2) ,C (8,5) and D (5,-4) are

the vertices of a parallelogram.

Watch Video Solution

6. Find the slope of the diagonals of a quadrilateral

with vertices  and 

.

Watch Video Solution

A(1, 7), B(6, 3), C(0, − 3)

D( − 3, 3)

https://dl.doubtnut.com/l/_TIcjIgsqnNXq
https://dl.doubtnut.com/l/_7NZKcDtFhrZZ
https://dl.doubtnut.com/l/_IhUw0yZ4CJV0


7. Find the ratio of which the line segment joining

the points  and  is divided by the

Y-axis.

Watch Video Solution

A(3, 8) B( − 9, 3)

8. If  are the vertices

of  and seg AM is its median find the length

of median AM.

View Text Solution

A( − 1, 1), B(5, − 3), C(3, 5)

ΔABC

https://dl.doubtnut.com/l/_IhUw0yZ4CJV0
https://dl.doubtnut.com/l/_OjulMI1pixiM
https://dl.doubtnut.com/l/_Hdh7G16r7x43
https://dl.doubtnut.com/l/_YFsnMgdwsJjp


9. If point P(-4,6) divides the line segment AB with

A(-6,10) in the 

ratio  , then coordinates of the point B are _ _ _

_ _ _ _ _

Watch Video Solution

2: 1

10. If A (3,5) , B (7,9) and Q divides seg AB in the

ratio  , then find the co-ordinates of points Q .

Watch Video Solution

2: 3

https://dl.doubtnut.com/l/_YFsnMgdwsJjp
https://dl.doubtnut.com/l/_OfAJpq20ojVV


3 Marks Question

11.  and . The ratio in

which point  divides segment AB is…..

Watch Video Solution

A(15, 5), B(9, 20) A − P − B

P (11, 15)

12. If slope of the line joining points P(k,0) and

Q(-3,-2) is  , then find k.

Watch Video Solution

2

7

https://dl.doubtnut.com/l/_dQk529WuzVAz
https://dl.doubtnut.com/l/_mLrubmBqNXUP


1. Show that the points A(4, 7), B(8, 4), C(7, 11) are

the vertices of right angled triangle

Watch Video Solution

2. If the distances of  from 

 are equal, then prove that

`3x=2y.

Watch Video Solution

P (x, y)

A(5, 1) and B( − 1, 5)

https://dl.doubtnut.com/l/_3HViHyRTrTVI
https://dl.doubtnut.com/l/_hWQTgFZpOhIx


3. Show that the points A(1,2),B(4,3),C(1,0) and

D(-2,-1) are the vertices of a parallelogram.

Watch Video Solution

4. Solve the following questions. (Any two ) 

(iv) Find the ratio in which point P (k,7) divides the

segment joining A (8,9) and B (1,2) . Also find k.

Watch Video Solution

https://dl.doubtnut.com/l/_6FTtxdtBhAyC
https://dl.doubtnut.com/l/_9Kxe23AGKZNZ


5. Find the distance between the points

Watch Video Solution

P ( − 1, 1) and Q(5, − 7)

6.  are the points of

trisection of segment AB where A-M-N-B Find the

co-ordinates of A and B

View Text Solution

M( − 3, 7) and N( − 1, 6)

https://dl.doubtnut.com/l/_r14Q8eLzVsio
https://dl.doubtnut.com/l/_GhgqLjIrnh3u


7. If slope of the line joining points

 then find the value of k

Watch Video Solution

(k, − 3) and (4, 5)  is 
1

2

8. Find the value of k if 

are collinear points

Watch Video Solution

( − 3, 11)(6, 2) and (k, 4)

9. Find the value of k if line PQ will be parallel to

line RS where P(2, 4), Q(3,6), R(8,1), S(10, k)

https://dl.doubtnut.com/l/_MQgjpgFamul0
https://dl.doubtnut.com/l/_yWMasZgrKzWm
https://dl.doubtnut.com/l/_2YSmllgubToJ


Watch Video Solution

10. Find the co-ordinates of centroid of the

triangles if points

 are the mid

points of the sides of that triangle.

Watch Video Solution

D( − 7, 6), E(8, 5) and F (2, − 2)

11. Find the co-ordinates of a point on Y-axis which

is equidistant from 

Watch Video Solution

M( − 5, − 2) and N(3, 2)

https://dl.doubtnut.com/l/_2YSmllgubToJ
https://dl.doubtnut.com/l/_BiPiyMMqCvWj
https://dl.doubtnut.com/l/_CNSPIGDExxOI


12. If point  is equidistant from points 

and  show that 

Watch Video Solution

(x, y) (7, 1)

(3, 5) y = x − 2

13. Find the value of y if the distance between the

points A (2,-2) and B(-1,y) is 5.

Watch Video Solution

14. Find the co-ordinates of point P if P is the

midpoint of a line segment AB with

https://dl.doubtnut.com/l/_DwAGXwAPCkQM
https://dl.doubtnut.com/l/_GvfWsfMFl3DY
https://dl.doubtnut.com/l/_Vg1QUBpj1TIw


Watch Video Solution

A( − 4, 2) and B(6, 2)

15. If point T divides the segment AB with A (-7,4)

and B (-6,-5) in the ratio  , find the co-ordinates

of T

Watch Video Solution

7: 2

16. Show that points P (-2,3) ,Q(1,2) ,R(4,1) are

collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_Vg1QUBpj1TIw
https://dl.doubtnut.com/l/_sz5wKnsrf4xn
https://dl.doubtnut.com/l/_hShUlOizpjU3


4 Marks Question

17. If point P(-4,6) divides the line segment AB with

A(-6,10) in the 

ratio  , then coordinates of the point B are _ _ _

_ _ _ _ _

Watch Video Solution

2: 1

1. Find the
lengths of the medians of a 
whose

vertices are 
and 
.

h id l i

ABC

A(7,   − 3),   B(5,  3) C(3,   − 1)

https://dl.doubtnut.com/l/_hShUlOizpjU3
https://dl.doubtnut.com/l/_Ph8Bc618Dgrs
https://dl.doubtnut.com/l/_3qek1XyAOV1N


Watch Video Solution

2. The line segment AB is divided into five

congruent parts at P,Q,R and S such that

. If point  and 

 are given find the coordinates of A, P,R,B.

Watch Video Solution

A − P − Q − R − S − B Q(12, 14)

S(4, 18)

3. Show that points A (4,-1)B (6,0) C (7,-2) and D (5,-3)

are the veties of a square.

Watch Video Solution

https://dl.doubtnut.com/l/_3qek1XyAOV1N
https://dl.doubtnut.com/l/_ZRFyjj1pYcaw
https://dl.doubtnut.com/l/_RoRARbAb7YYj


4. Find the coordinates of the circumcentre and the

radius of the circumcircle of  if A(2,3), B(4,-1)

and C(5,2).

Watch Video Solution

ΔABC

5. Show that the line segment joining the points

bisect each other

Watch Video Solution

A( − 6, 8), B( − 2, 4) and P ( − 4, 13), S( − 4, − 1)

https://dl.doubtnut.com/l/_kf0r5ikR23xV
https://dl.doubtnut.com/l/_cwUnLj3xHNag


6. Show that points

 are

the vertices of a parallelogram.

Watch Video Solution

P (1, − 2), Q(5, 2), R(3, − 1), S( − 1, − 5)

7. If ABCD is a parallelogram and

 Find

the co-ordinates of C

View Text Solution

A( − 2, 4), B ≡ ( − 3, 5) and D(3, − 2)

https://dl.doubtnut.com/l/_WGroF422U6S3
https://dl.doubtnut.com/l/_uUm05vbpajJm


8. Show that point

 are

collinear

Watch Video Solution

P ( − 3, 2)Q(1, − 2) and R(9, − 10)

9. Verify, whether points

 are collinear

Watch Video Solution

P (6, − 6), Q(3, − 7) and R(3, 3)

https://dl.doubtnut.com/l/_5m5Dki5jyk0r
https://dl.doubtnut.com/l/_DpVNtPnKhP50


10. Show that points (1,7),(4,2),(-1,-1) and (-4,4) are

vertices of a suare.

Watch Video Solution

11. A(-3,-4), B(-5,0),C(3,0) are the veties of  .

Fin the co-ordinates of the circumcentre of

Watch Video Solution

ΔABC

ΔABC.

https://dl.doubtnut.com/l/_JUyTauRTEeDS
https://dl.doubtnut.com/l/_UtxxHiLw2rFB


Assignment V

12. Find the coordinates of the points of trisection

of the line segment joining the points (2,-2) and

(-7,-4)

Watch Video Solution

13. If A(6,1) ,B(8,2) ,C(9,4) and D (7,3) are the vertices

of  ABCD , show that  ABCD is a parallelogram.

Watch Video Solution

□ □

https://dl.doubtnut.com/l/_qbyPgmtjjhtA
https://dl.doubtnut.com/l/_Fjq7BHHhbyk9
https://dl.doubtnut.com/l/_h7CFd5ZO3NxF


1. The ratio in which the point (5, 4) divides the line

joining points (2, 1) and (7,6 ) is…..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3: 2

2: 3

1: 3

2: 3

https://dl.doubtnut.com/l/_h7CFd5ZO3NxF


2. Find k if the line passing through points

 has slope 

Watch Video Solution

P ( − 12, − 3) and Q(4, k)
1

2

3. Show that the points A(1,2),B(1,6), 

are the 

vertices of an equilateral triangle .

Watch Video Solution

C(1 + 2√3, 4)

https://dl.doubtnut.com/l/_g3ULl5IsnzzN
https://dl.doubtnut.com/l/_1Kb9IllaAAWA


4. Verify whether P(-2,2) , Q(2,2) and R(2,7) are the

vertices of a 

right angled triangle or not by completing the

following acitvity. 

 …(1) 


 …(2) 


 ...(3) 

from (1),(2),(3) 

 

 


 a right angled triangle [is /is not]

Watch Video Solution

PQ = √[2 − ( − 2)]2 + (2 − 2)2 = □

QR = √(2 − 2)
2

+ 97 − 2
2

) = 5

PR = √[2 − ( − 2)]
2

+ (7 − 2)
2

= □

PR2 = □ , QP 2 + QR2 = □

∴ PR2
□ PQ2 + QR2[ = or ≠ ]

∴ △ PQR □

https://dl.doubtnut.com/l/_7C3egvLyrE2l


5. Find k, if PQ  and P(2,4), Q (3,6), R (3,1),

S(5,k).

Watch Video Solution

∣ ∣ RS

6. Find the co-ordinates of the circumcentre of a

triangle whose vertices are (-3,1) ,(0,-2) and (1,3) .

Watch Video Solution

7. Show that points A (4,-1)B (6,0) C (7,-2) and D (5,-3)

are the veties of a square.

https://dl.doubtnut.com/l/_Krr4XHVbPJki
https://dl.doubtnut.com/l/_XfUvzXGC7wJa
https://dl.doubtnut.com/l/_PmQurHMzeLXh


Watch Video Solution

8. Find the coordinates of centre of the circle

passing through the 

points P(6,-6),Q (3,-7) and R(3,3)

Watch Video Solution

https://dl.doubtnut.com/l/_PmQurHMzeLXh
https://dl.doubtnut.com/l/_7lMblWRmyp5L

